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How much a person is willing to give, etc. to marry her off to his servant

Overview

The X3 explained the mwn, which stated that 230 is assessed as if she was a maidservant
being sold, to mean the difference in price how much a person would pay to buy a oY
for his 72y, whether she is a 12102 or a 12w2. Our Moo clarifies this ruling.
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It is astounding! what type of assessment is this?!
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Is it then so that a prominent woman from an important family does not lose
her value by being defiled, only equivalent to the value of a maidservant who is
married to a slave —

N150IN answers:
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And one can say, that we assess each woman according to her status, regarding

this matter of buying her to marry his slave -
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How much of a difference is there in what a person would pay to marry off to his

slave such a devalued women whether she is a 77902 or a 79Wwa -
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And the reason the X721 mentions a 7rsw, for he mentions the usual case, since it
is not usual to marry one’s slave to princesses (only to other slaves).

Summary
The term 7mdW is merely an example; we assess each woman according to her status.

Thinking it over
Why do we not simply assess how much one would be willing to pay for a 7512
more than for a 7912 for his marriage; why involve slaves at all?!?

! The difference in value between a 79102 now and a 79W2 Anow is much less than the reduction in value of a prominent
woman, whether she is a 7712 or a 79w3; how can we assess her loss based on the decreased value of a now?!

2 We are not assessing a qnow necessarily, but rather each woman according to her status.

3 See s MIX T"yp O YA 1R WO,
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